[N of reco track vs normalized x2 ]

tracks

Ratio

o=

12 14 16 18 20

track x2

Teco rackvs 4 ——— B M:BlﬁeISBEAsnggﬁTét s';rg_élIgbﬁ}%geglfggh:%‘%q?ﬁewgeom

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

10 12 14 16 18 20
track x?

tracks

Ratio

oo

a--r

1%} 4] 0
s [ ] S '
8 g g
[ [} Q
2102 g 810
=
=]
o
10 1072
1 107
=} 1 r =] ] bl
3 Tl © . 2
14 | [ o . 14
T . 0.5 r-
0.5 “THTl- -- T o
0 4 6 10 12 14 16 18 20 16 18 20 CO 4 6 8
track x2 track x2
1%} 2]
] s
g g
= £ 10
o =]
3 s
14 o




	Contents
	Page 1


